On invariant arithmetic statistically convergence and lacunary invariant arithmetic statistically convergence

Ömer KİŞİ

Communicated by Harikrishnan Panackal

MSC 2010 Classifications: Primary 40A05, 40A99; Secondary 46A70, 46A99.

Keywords and phrases: lacunary sequence, statistical convergence, invariant, arithmetic convergence

Abstract In this article, the concepts of invariant arithmetic convergence, lacunary invariant arithmetic convergence, invariant arithmetic statistically convergence and lacunary invariant arithmetic statistically convergence have been investigated. Finally, we give some relations between lacunary invariant arithmetic statistical convergence and invariant arithmetic statistical convergence.

1 Introduction

The idea of arithmetic convergence was firstly originated by Ruckle [1]. Then, it was further investigated by many authors, e.g. Yaying and Hazarika ([2], [3], [4], [5]).

A sequence $x = (x_m)$ is called arithmetically convergent if for each $\varepsilon > 0$, there is an integer n such that for every integer m we have $|x_m - x_{\langle m,n\rangle}| < \varepsilon$, where the symbol $\langle m,n\rangle$ denotes the greatest common divisior of two integers m and n. We denote the sequence space of all arithmetic convergent sequence by AC.

Statistical convergence of a real number sequence was firstly originated by Fast [7]. It became a notable topic in summability theory after the work of Fridy [8] and Šalát [9].

By a lacunary sequence we mean an increasing integer sequence $\theta = \{k_r\}$ such that $k_0 = 0$ and $h_r = k_r - k_{r-1} \to \infty$ as $r \to \infty$. Throughout this paper the intervals determined by θ will be denoted by $I_r = (k_{r-1}, k_r]$, and ratio $\frac{k_r}{k_{r-1}}$ will be abbreviated by q_r . The space of lacunary convergent sequence N_{θ} was introduced by Freedman [10]. Also, in [10] the connection between the strongly Cesàro summable sequences space and the strongly lacunary summable sequences space was established. Connor [11] gave the relationships between the concepts of strongly *p*-Cesàro convergence and statistical convergence of sequences. The notion of lacunary convergence has been investigated by Çolak [12], Fridy and Orhan ([13], [14]), Li [15] and many others in the recent years.

Several authors have studied invariant convergent sequences (see, [16], [17], [18], [19], [20], [21]).

Let σ be a one-to-one mapping of the set of positive integers into itself such that $\sigma^m(n) = (\sigma^{m-1}(n))$, m = 1, 2, 3, ... A continuous linear functional Φ on l_{∞} , the space of real bounded sequences, is said to be an invariant mean or a σ mean, if and only if,

(1) $\Phi(x) \ge 0$, for all sequences $x = (x_n)$ with $x_n \ge 0$ for all n;

(2) $\Phi(e) = 1$, where e = (1, 1, 1, ...);

(3) $\Phi(x_{\sigma(n)}) = \Phi(x)$ for all $x \in l_{\infty}$.

The mapping Φ are assumed to be one-to-one such that $\sigma^m(n) \neq n$ for all positive integers n and m, where $\sigma^m(n)$ denotes the mth iterate of the mapping σ at n. Thus, Φ extends the limit functional on c, the space of convergent sequences, in the sense that $\Phi(x) = \lim x$, for all $x \in c$. In case σ is translation mapping $\sigma(n) = n + 1$, the σ mean is often called a Banach limit and V_{σ} , the set of bounded sequences all of whose invariant means are equal, is the set of almost convergent sequences.

A set *E* of positive integers said to have uniform invariant density of zero if and only if the number of elements of *E* which lie in the set $\{\sigma(m), \sigma^2(m), ..., \sigma^n(m)\}$ is o(n) as $n \to \infty$, uniformly in *m*.

By using uniform invariant density, following notions were given in [16] and [17].

The arithmetic statistically convergence and lacunary arithmetic statistically convergence was examined by Yaying and Hazarika [6].

A sequence $x = (x_m)$ is said to be arithmetic statistically convergent if for $\varepsilon > 0$, there is an integer n such that

$$\lim_{t \to \infty} \frac{1}{t} |\{m \le t : |x_m - x_{\langle m, n \rangle}| \ge \varepsilon\}| = 0.$$

We shall use ASC to denote the set of all arithmetic statistical convergent sequences. Thus, for $\varepsilon>0$ and integer n

$$ASC = \left\{ x = (x_m) : \lim_{t \to \infty} \frac{1}{t} |\{m \le t : |x_m - x_{\langle m, n \rangle}| \ge \varepsilon \}| = 0 \right\}.$$

We shall write $ASC - \lim x_m = x_{(m,n)}$ to denote the sequence (x_m) is arithmetic statistically convergent to $x_{(m,n)}$.

A sequence $x = (x_m)$ is said to be lacunary arithmetic statistically convergent if for $\varepsilon > 0$ there is an integer n such that

$$\lim_{r \to \infty} \frac{1}{h_r} |\{m \in I_r : |x_m - x_{\langle m, n \rangle}| \ge \varepsilon\} = 0.$$

We shall write

$$ASC_{\theta} = \left\{ x = (x_m) : \lim_{r \to \infty} \frac{1}{h_r} | \left\{ m \in I_r : |x_m - x_{\langle m, n \rangle}| \ge \varepsilon \right\} = 0 \right\}.$$

We will use $ASC_{\theta} - \lim x_m = x_{(m,n)}$ to denote the sequence (x_m) is lacunary arithmetic statistically convergent to $x_{(m,n)}$.

2 Main Results

Definition 2.1. A sequence $x = (x_p)$ is said to be invariant arithmetic convergent if for an integer n

$$\lim_{m \to \infty} \frac{1}{m} \sum_{p=1}^m x_{\sigma^p(s)} = x_{\langle p,n \rangle} \quad \text{uniformly in } s = 1, 2, \dots.$$

In this case we write $x_p \to x_{(p,n)}(AV_{\sigma})$ and the set of all invariant arithmetic convergent sequences will be demostrated by AV_{σ} .

Definition 2.2. A sequence $x = (x_p)$ is said to be strongly invariant arithmetic convergent if for an integer n

$$\lim_{n \to \infty} \frac{1}{m} \sum_{p=1}^{m} |x_{\sigma^p(s)} - x_{\langle p, n \rangle}| = 0 \quad \text{uniformly in } s = 1, 2, \dots$$

In this case we write $x_p \to x_{\langle p,n \rangle} [AV_{\sigma}]$ to denote the sequence (x_p) is strongly invariant arithmetic convergent to $x_{\langle p,n \rangle}$ and the set of all invariant arithmetic convergent sequences will be demostrated by $[AV_{\sigma}]$.

Definition 2.3. A sequence $x = (x_p)$ is said to be invariant arithmetic statistically convergent if for every $\varepsilon > 0$, there is an integer n such that

$$\lim_{m \to \infty} \frac{1}{m} |\{p \le m : |x_{\sigma^p(s)} - x_{\langle p, n \rangle}| \ge \varepsilon\}| = 0 \quad \text{uniformly in } s = 1, 2, \dots$$

We shall use $AS_{\sigma}C$ to denote the set of all invariant arithmetic statistical convergent sequences. Thus, we define

$$AS_{\sigma}C = \left\{ x = (x_p) : \text{for some } x_{\langle p,n \rangle}, AS_{\sigma}C - \lim x_p = x_{\langle p,n \rangle} \right\}.$$

In this case we write $AS_{\sigma}C - \lim x_p = x_{(p,n)}$ or $x_p \to x_{(p,n)} (AS_{\sigma}C)$.

Definition 2.4. A sequence $x = (x_p)$ is called to be lacunary invariant arithmetic statistical convergent if for every $\varepsilon > 0$, there is an integer n such that

$$\lim_{r\to\infty}\frac{1}{h_r}|\{p\in I_r:|x_{\sigma^p(s)}-x_{\langle p,n\rangle}|\geq\varepsilon\}|=0 \quad \text{uniformly in }s=1,2,\ldots,n_r\}$$

We shall use $AS_{\sigma\theta}C$ to indicate the set of all lacunary invariant arithmetic statistical convergent sequences. Thus, we define

$$AS_{\sigma\theta}C = \{x = (x_p) : \text{for some } x_{(p,n)}, AS_{\sigma\theta}C - \lim x_p = x_{(p,n)}\}.$$

In this case we write $AS_{\sigma\theta}C - \lim x_p = x_{\langle p,n \rangle}$ or $x_p \to x_{\langle p,n \rangle} (AS_{\sigma\theta}C)$.

Definition 2.5. A sequence $x = (x_p)$ is said to be strongly lacunary invariant arithmetic convergent if for an integer n

$$\lim_{r \to \infty} \frac{1}{h_r} \sum_{p \in I_r} |x_{\sigma^p(s)} - x_{\langle p, n \rangle}| = 0 \quad \text{uniformly in } s = 1, 2, \dots$$

In this case we write $x_p \to x_{\langle p,n \rangle} (AL_{\sigma\theta})$ to denote the sequence (x_p) is strongly lacunary invariant arithmetic convergent to $x_{\langle p,n \rangle}$ and the set of all strongly lacunary invariant arithmetic convergent sequences will be denoted by $(AL_{\sigma\theta})$.

Now, we give some inclusion relations between $AL_{\sigma\theta}$ -convergence and $AS_{\sigma\theta}C$ -convergence and demonstrate that these are equivalent for bounded sequences. We also study relation between $AS_{\sigma\theta}C$ -convergence and $AS_{\sigma}C$ -convergence.

Theorem 2.6. Let $\theta = \{k_r\}$ be a lacunary sequence.

- (i) $x_p \to x_{\langle p,n \rangle} (AL_{\sigma\theta})$ implies $x_p \to x_{\langle p,n \rangle} (AS_{\sigma\theta}C)$,
- (ii) $x \in l_{\infty}$ and $x_p \to x_{(p,n)}$ $(AS_{\sigma\theta}C)$ imply $x_p \to x_{(p,n)}$ $(AL_{\sigma\theta})$,
- (iii) $AS_{\sigma\theta}C \cap l_{\infty} = AL_{\sigma\theta}$.

Proof. (i) Let $\varepsilon > 0$ and $x_p \to x_{(p,n)}(AL_{\sigma\theta})$. Then, we can write

$$\sum_{p \in I_r} |x_{\sigma^p(s)} - x_{\langle p, n \rangle}| \geq \sum_{\substack{p \in I_r \\ |x_{\sigma^p(s)} - x_{\langle p, n \rangle}| \ge \varepsilon}} |x_{\sigma^p(s)} - x_{\langle p, n \rangle}|$$
$$\geq \varepsilon. \left| \left\{ p \in I_r : |x_{\sigma^p(s)} - x_{\langle p, n \rangle}| \ge \varepsilon \right\} \right|$$

which gives the result.

(*ii*) Assume that $x_p \to x_{\langle p,n \rangle} (AS_{\sigma\theta}C)$ and $x \in l_{\infty}$. If $x \in l_{\infty}$, then, there exists a positive integer M such that

$$|x_{\sigma^p(s)} - x_{\langle p,n \rangle}| \le M$$

for all p and s.

Given $\varepsilon > 0$, we get

$$\begin{aligned} \frac{1}{h_r} \sum_{p \in I_r} |x_{\sigma^p(s)} - x_{\langle p, n \rangle}| &= \frac{1}{h_r} \sum_{\substack{p \in I_r \\ |x_{\sigma^p(s)} - x_{\langle p, n \rangle}| \ge \varepsilon}} |x_{\sigma^p(s)} - x_{\langle p, n \rangle}| \\ &+ \frac{1}{h_r} \sum_{\substack{p \in I_r \\ |x_{\sigma^p(s)} - x_{\langle p, n \rangle}| < \varepsilon}} |x_{\sigma^p(s)} - x_{\langle p, n \rangle}| \\ &\leq \frac{M}{h_r} \left| \left\{ p \in I_r : |x_{\sigma^p(s)} - x_{\langle p, n \rangle}| \ge \varepsilon \right\} \right| + \varepsilon \end{aligned}$$

from which the result follows.

Let $\theta = \{k_r\}$ be given and define x_p to be $1, 2, ..., \lfloor \sqrt{h_r} \rfloor$ for $p = \sigma^t(s)$, $t = k_{r-1} + 1$, $k_{r-1} + 2, ..., k_{r-1} + \lfloor \sqrt{h_r} \rfloor$; $s \ge 1$, and $x_p = 0$ otherwise (where [.] denotes the greatest integer function). Note that x is not bounded.

Further, for $0 < \varepsilon < 1$ we get

$$\frac{1}{h_r}|\{p\in I_r: |x_{\sigma^p(s)}-0|\geq \varepsilon\}| = \frac{\left\lceil \sqrt{h_r}\right\rceil}{\sqrt{h_r}} \to 0 \text{ as } r \to \infty,$$

i.e. $x_p \to 0(AS_{\sigma\theta}C)$. But

$$\frac{1}{h_r}\sum_{p\in I_r} |x_{\sigma^p(s)} - 0| = \frac{1}{h_r} \left(\frac{\left[\sqrt{h_r}\right] \left(\left[\sqrt{h_r}\right] + 1\right)}{2} \right) \to \frac{1}{2} \neq 0 \text{ as } r \to \infty,$$

hence, $x_p \not\rightarrow 0$ ($AL_{\sigma\theta}$). Thus, inclusion (*i*) is proper and this example denotes that the boundedness condition can not be omitted from the hypothesis (*ii*).

(iii) This is an immediate consequence of (i) and (ii).

We now give a lemma which will be used in the proof of Theorem 2.8.

Lemma 2.7. Assume for given $\varepsilon_1 > 0$ and every $\varepsilon > 0$, there exists m_0 and s_0 and there is an integer n such that

$$\frac{1}{m}|\{0 \le p \le m-1 : |x_{\sigma^p(s)} - x_{\langle p,n \rangle}| \ge \varepsilon\}| < \varepsilon_1$$

for all $m \ge m_0$ and $s \ge s_0$, then, $x = (x_p) \in AS_{\sigma}C$.

Proof. Let $\varepsilon_1 > 0$ be given. For each $\varepsilon > 0$, select m'_0 , s_0 such that

$$\frac{1}{m}|\{0 \le p \le m-1 : |x_{\sigma^p(s)} - x_{\langle p,n \rangle}| \ge \varepsilon\}| < \frac{\varepsilon_1}{2}$$
(2.1)

for all $m \ge m'_0$ and $s \ge s_0$. It is enough to prove that there exists m''_0 such that for $m \ge m''_0$ and $0 \le s \le s_0$,

$$\frac{1}{m}|\{0 \le p \le m-1 : |x_{\sigma^p(s)} - x_{\langle p,n \rangle}| \ge \varepsilon\}| < \varepsilon_1.$$
(2.2)

Since taking $m_0 = \max\{m'_0, m''_0\}$, (2.2) will hold for $m \ge m_0$ and for all s, which gives the result.

Once s_0 has been choosen, $0 \le s \le s_0$, s_0 is fixed. So put

$$T = |\{0 \le p \le s_0 - 1 : |x_{\sigma^p(s)} - x_{\langle p, n \rangle}| \ge \varepsilon\}|.$$

Now taking $0 \le s \le s_0$ and $m \ge s_0$, by (2.1) we have

$$\begin{aligned} &\frac{1}{m} |\{ 0 \le p \le m-1 : |x_{\sigma^p(s)} - x_{\langle p,n \rangle}| \ge \varepsilon \} | \\ &\le \frac{1}{m} |\{ 0 \le p \le s_0 - 1 : |x_{\sigma^p(s)} - x_{\langle p,n \rangle}| \ge \varepsilon \} | \\ &+ \frac{1}{m} |\{ s_0 \le p \le m-1 : |x_{\sigma^p(s)} - x_{\langle p,n \rangle}| \ge \varepsilon \} | \\ &\le \frac{T}{m} + \frac{1}{m} |\{ s_0 \le p \le m-1 : |x_{\sigma^p(s_0)} - x_{\langle p,n \rangle}| \ge \varepsilon \} | \le \frac{T}{m} + \frac{\varepsilon_1}{2} \end{aligned}$$

and taking *m*, sufficiently large, we can write $\frac{T}{m} + \frac{\varepsilon_1}{2} < \varepsilon_1$, which gives (2.2), and therefore, the result follows.

Theorem 2.8. $AS_{\sigma\theta}C = AS_{\sigma}C$ for every lacanary sequence θ .

Proof. Let $x \in AS_{\sigma\theta}C$. Then, from Definition 2.4, given $\varepsilon_1 > 0$, there exist r_0 and $x_{\langle p,n \rangle}$ such that

$$\frac{1}{h_r}|\{0 \le p \le h_r - 1 : |x_{\sigma^p(s)} - x_{\langle p, n \rangle}| \ge \varepsilon\}| < \varepsilon_1$$

for $r \ge r_0$ and $s = k_{r-1} + 1 + u$, $u \ge 0$.

Let $m \ge h_r$, write $m = ih_r + q$, where $0 \le q \le h_r$, *i* is an integer. Since $m \ge h_r$, $i \ge 1$. Now $\frac{1}{2} |\{0 \le n \le m - 1 : |x_{-r(i)} = x_{(i-r)}| \ge \varepsilon\}|$

$$\begin{aligned} |\{\mathbf{0} \le p \le m-1 : |x_{\sigma^{p}(s)} - x_{\langle p,n \rangle}| \ge \varepsilon\}| \\ \le \frac{1}{m} |\{\mathbf{0} \le p \le (i+1) h_{r} - 1 : |x_{\sigma^{p}(s)} - x_{\langle p,n \rangle}| \ge \varepsilon\}| \\ = \frac{1}{m} \sum_{j=0}^{i} |\{jh_{r} \le p \le (j+1) h_{r} - 1 : |x_{\sigma^{p}(s)} - x_{\langle p,n \rangle}| \ge \varepsilon\} \end{aligned}$$

$$\leq \frac{1}{m} (i+1) h_r \varepsilon_1 \leq 2ih_r \frac{\varepsilon_1}{m}, \ (i \geq 1)$$

for $\frac{h_r}{m} \leq 1$, and since $\frac{ih_r}{m} \leq 1$,

$$\frac{1}{m}|\{0 \le p \le m-1 : |x_{\sigma^p(s)} - x_{\langle p,n \rangle}| \ge \varepsilon\}| \le 2\varepsilon_1.$$

Then, by the Lemma 2.7, $AS_{\sigma\theta}C \subset AS_{\sigma}C$. It is easy to see that $AS_{\sigma}C \subset AS_{\sigma\theta}C$.

By using the same techniques as in Theorem 2.8, we can prove the following theorem.

Theorem 2.9. $AL_{\sigma\theta} \iff [AV_{\sigma}]$ for every lacanary sequence θ .

When $\sigma(s) = s + 1$, from Definitions 2.3 and 2.4 we get the definitions of arithmetic almost statistically convergence and lacunary almost arithmetic statistically convergence of a sequence. So, similar inclusions to Theorems 2.7 and 2.8 hold between strongly almost arithmetic convergent sequences and almost arithmetic statistical convergent sequences, which have not appeared anywhere by this time.

References

- [1] WH. Ruckle, Arithmetical summability, J. Math. Anal. Appl. 96, 741-748 (2012).
- [2] T. Yaying and B. Hazarika, On arithmetical summability and multiplier sequences, *Nat. Acad. Sci. Lett.* 40(1), 43-46 (2017).
- [3] T. Yaying, B. Hazarika, On arithmetic continuity, Bol. Soc. Parana. Mat. 35(1), 139-145 (2017).
- [4] T. Yaying, B. Hazarika, H. Çakalli, New results in quasi cone metric spaces, J. Math. Comput. Sci. 16(3), 435-444 (2016).
- [5] T. Yaying, B. Hazarika, On arithmetic continuity in metric spaces, Afr. Mat. 28, 985-989, (2017).
- [6] T. Yaying, B. Hazarika, Lacunary Arithmetic Statistical Convergence, *Nat. Acad. Sci. Lett.* 43(6), 547-551 (2020).
- [7] H. Fast, Sur la convergence statistique, Colloq. Math. 2, 241-244 (1951).
- [8] J.A. Fridy, On statistical convergence, Analysis 5, 301-313 (1985).
- [9] T. Šalát, On statistically convergent sequences of real numbers, Math. Slovaca 30, 139-150 (1980).
- [10] A.R. Freedman, JJ. Sember, M. Raphael, Some Cesàro-type summability spaces, *Proc. Lond. Math. Soc.* 37, 508-520 (1978).
- [11] J. Connor, The statistical and strong p-Cesàro convergence of sequences, Analysis 8, 46-63 (1988).
- [12] R. Çolak, Lacunary strong convergence of difference sequences with respect to a modulus function, *Filomat* 17, 9-14 (2003).
- [13] J.A. Fridy, C. Orhan, Lacunary statistical summability, J. Math. Anal. Appl., 173(2), 497-504 (1993).
- [14] J.A. Fridy, C. Orhan, Lacunary statistical convergence, Pacific J. Math. 160(1), 43-51 (1993).
- [15] J. Li, Lacunary statistical convergence and inclusion properties between lacunary methods, *Internat. J. Math.and Math. Sci.* 23(3), 175-180 (2000).

- [17] F. Nuray, E. Savaş, On σ statistically convergence and lacunary σ statistically convergence, *Math. Slovaca* **43(3)**, 309-315 (1993).
- [18] U Ulusu, E. Dündar, F. Nuray, Lacunary \mathcal{I}_2 -invariant convergence and some properties, *Internat. J. Anal. Appl.* **16(3)**, 317-327 (2018).
- [19] N. Pancaroğlu, F. Nuray, Statistical lacunary invariant summability, *Theoretical Math. Appl.* **3(2)**, 71-78 (2013).
- [20] N. Pancaroğlu, F. Nuray, On invariant statistically convergence and lacunary invariant statistically convergence of sequences of sets, *Progress in Appl. Math.* 5(2), 23-29 (2013).
- [21] R.A. Raimi, Invariant means and invariant matrix methods of summability, *Duke Math. J.* **30**, 81-94 (1963).

Author information

Ömer KİŞİ, Deparment of Mathematics, Faculty of Science, Bartın University, Bartın., Turkey. E-mail: okisi@bartin.edu.tr

Received: January 7, 2021 Accepted: March 3, 2021